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Write neatly and eligibly

Q1 (3 points): A product designer is testing a new customer battery. A test was conducted in which the new
battery was discharged in parallel with the existing model. The following results express the number of
hours by which he new battery outlasted the old one:
5-410151125-517-508124815
Compute the maximum estimation error with a 99% confidence level for estimating the mean life time
advantage of the new battery, and interpret the result.

h=16, X = .69 , 3= 69.9, , s= 8.2
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Q2 (3 points): An automobile parts distributor found 34 packages containing defective brake linings in a
sample of 200 taken at random from a shipment containing 1,000 packages. Find the minimum number
of packages that must be drawn from the 1,000 packages to estimate the proportion of defective
packages with a 98% level of confidence and with estimation error of 0.04.
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Q3 (4 points): Referring to Q1, construct a 95% C.L for the standard deviation of the life time advantage of
the new battery, and interpret the result.
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With My Best Wishes




